SplashLearn

Multiple Choice

Choose the correct option.

Q)

Which coin has the value equivalent to 5 cents?

()

o penny o dime o nickel o half-dollar
The value of a one dollar coin is
o0 100¢ 0 50¢ o 10¢ o 5¢

®

Nick bought a pack of pens in exchange for a dime. What is the cost of the pack?

o1¢ o5¢ o 10¢ o 25¢
Which of the following coins has the least value?

o dime o quarter o one-dollar o nickel
Which of the following is not a US denomination of bill/coin?

o $1 bill 0 $25 bill o 50¢ coin 0 25¢ coin




